www.martech-hs.com
sklep@martech-hs.pl
Central warehouse - Strzegom

Hydraulics & +48 74 851 19 51

Check valve

1 ES
i
Name A B C D
050.3 1/8" G 12 15,5 24,5
050.4 M10x1 12 15,5 24,5
050.5 1/4" G 17 18 27
050.6 M10x1 12 15,5 24,5
050.7 1/4" G 17 18 27
050.8 M10x1 12 15,5 24,5
050.9 1/4" G 17 18 27

PDF page number 1 PDF page out of 1

1/8” GK
1/8" GK
1/8” GK
M10x1 K
M10x1 K
M10x1 K
M10x1 K

Kierunek

przeptywu
A->E

A->E
A->E
A->E
A->E
E->A
E->A



